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This Test Boaklet consists of three parts - Tart I, Part 1T and
Part 1L

Part T hus 30 voljectve bypee gquistions of Mathematics,
Cuaestion Moo 1 1o 2 and 9 (o 30 consist FOUR (1) marks
ench and Cueation MNel 3 o oonsist EIGHT (8) marks each
For sy cornel responiie Pant 11 (Apttade Test) has 50
objective 1ype questions (4 aplions with single correct
answer) conslsting of FOUR () marks for each correct
reRponse, Mark your answers for these guestions i the
appropriate space against the number cormesponding to the
uition m the Anwwer Sheet placed il this Test Booklet.
Use Rlue/ Black Ball Padnt Per anly for sriting particalar
mtarkiig responses an Side-1 and Side-2 of the Answeer Shieat,
Part 111 poneasts of 2 guistions carryug, 70 ks which are
ber it atlemapled on a soparate Drawiag Sheet which s alsn
ploced inside this Test Bookle!, Marks allotted to each
gueatlon are writlen agains! each question.  Use colowr
penctls ar erayons only on the Drawing Sheet. Da nat use
wwitter colotrs, For ench freorreet response in Part | and Part
I, ﬁ!fr-fﬁ#r”{ r%-‘i] of 1he lotal morks allodbed e the queson
would e deducted'from the total seore. No deduction from
(hie total score, however, will be made if no response is
indizated for an itens i e Andaer Sheel

The maximum marks are
414,

On camplation of he teal, he camlidates must hand
over the Answer Sheet of Mathematics and Aptitude
Test-Fart 1 & 11 and the Drawing Sheet of Aptitude
Test-Tart T 10 the Invigilator in (e Boom/ Hall Candidabes
are allowed te take away with them tle Test Booklel of
Aptitude Fest-Part | & I

Ihe CODE for this Booklet is B. Make sure that the CODFE
printed on Side-2 of the Answer Sheet and on the Drawing
Shieet (Part IIX) % the same as that on this booklst, Also
tally the Seral Mumber of the Teatl Bonklsl  Answer Slhoct
and Drawing Sheet and ensure that they are same. In case
of diserepaney in Code or Serial Mumber, the candidate
ghould immediately report the matter 1o the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Dirivwing Shoect,
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B 2
Part 1 / 9T 1 |
Mathematics / TITOTd
Directions : fager : ,

Questions number 1 lo 5 are Assertion - Reason
type questions. Each of these questions contains fwo
statpments : Statement-1 (Assertion) and
Statement-2 (Reason), Each of these questions
also has four alternative choices, only one of which
{5 the correct answer. Yow have to select the correct

choice.

1, Let A and B be 2% 2 matrices with real
eniries. Let I be the 2 x 2 identity matrix,
Denote by tr (A), the sum of the diagonal

entries of Al

Statement-1: AB—-BA#IL -

—e

A

tr (A+B)=tr (A)+tr (B)
and tr (AB)=1r (BA)

Statement-2 ;

Statement-1 is lrue, Statement-2 is
Irue: Statement-2 is not a correct

(1)

explanation for Statement-1

2} Statement-1 is irue, Statement-2 is
false

(3) Staterment-1 is false, Statement-2 is
true

(4) Statement-1 is true, Statement-2 is

true: Statement-2 is a correct
explanation for Statement-1

JET T 1 F 5 d (e e - B TR
v ¥ yew uvd d @ vEeT fgw o &
garerA-1 ( v e ) i 0Haa-2( &7 )1
gt we % A ey & fad d e oF el
Fer 1 Rt wE e 1 g G

e A sir @ erEe affe e q 2
AR F AL, 2% 2 T ST E
s A B faal w1 afafil % A
tr (A) W ZTAT T

1.

THaa-1: AB—-BA#L

WRET-2 : tr (A +B)=tr (A)+tr (B) ¥R

tr (AB)=tr (BA) |

(1) TFTA-1 T B, THAA-2 T #
YERUE-2, TRUF-1 I W e T8
£l

(2) WEUE-1 T &, gEeR-2 e R

(3)  TEEE-1 e ¥ A2 T B

(4) TFYA-1 HeA ¥, THEII-2 €A F

TFEAA-7, WeFY-1 F T e ¥

SPACE FOR ROUGH WORK / T &1 = forn =gy




Statement-1 :

; . T ]
Hm s —| ——

-1 I| axists
a1 41 l| T |

Statemenlt-=2 :

Cxlx]-1
| x| -1

(1) Statement-1 is true, Statement-2 is

lim tim F—[

exisis
T | 4

rue; Slalement-2 is not a correct
explanation for Statement-1

(2)  Statemenlt-1 is true, Statement-2 is
false

(3) Statement-1 15 false, Statement-2 is
Lruae

(4) Statement-1 is true, Statement-2 is
lrue; Stalement-2 is a correct
explanalion [or Blatement-1

Statement-1 ;

The coefficient of 2" in

" : ) .
TN e+ T (5-2x) s (n+1)2%
j=0

Statement-2 :

1

il n+l n+1
Eg—@.&&

= i—f  a#b, and
e

the coefficient of x™ in (o + B)™ is o™

(1) Statement-1 is true, Statemeni-2 is
true; Statement-2 is nmof a correct
explanation for Statement-1

(2) Statement-1 is true, Statement-2 is
false

(3) Statement-1 is false, Statement-2 is
true

(4) Statement-1 is true, Statement-2 is
lrue; Statement-2 is a correct
explanation for Stalement-1

THIT-1 ;

Tim sin = [ xlx]-1 l fige &
o — el Ll Lbacrs b
T— | 41 Fxl—=1 | o l
TReET-2

w x|x|=1

[l ‘
fim tan—

(1) 9HHA-1 TG ¥, YFYA-2 94 #;
THYT-2, WEUA-1 F e v 95
il

(2)  WEUT-1 T, wHY-2 fiyem )
(3)  weEwA-1 foem & wHvR-2 w07

(4) TFYA-1 WA ¥, UFHGA-2 T
TFAA-2, WEY-1 T TE S &

TFHFIA-1 :

M

Y- @r+3" I5-2x) F o H
=
TOMF (0 +1)2" ¥
Th -2

] n+l n+l

peipi=® b

,Eﬂd . a—b " arb, I
(=

(x+ Ry H o IR o

(1) Y%4d-1 9 &, 9H99-2 T ¥,

TEY-2, FEUI-1 #) HE S T8
=
A

(2) TEWE-1 T §, TEe-2 fren €

(3)  TEyA-1 faem € w2 " R

(4) IHAT-1 TF B, THYI-2 ¥59 ¥,
TFIA-2, WRUA-1 T TE e

SPACF FOR ROUGH WORK / 7% 14 % fam =rme
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Let b, ¢ be two non-zero real numbers such

that b*=<3¢.

Let f (x) =13 bx® +ex+d, xeR.

Stalement-1: fisal -1 function.

Statement-2 :  fis a strictly decreasing

function on R,

(1) Statement-1 is true, Statement-2 is
true; Statement-2 is not a correct
explanation for Statement-1

(2)  Stalement-1 is true, Statement-2 is
lalse

(3)  Statement-1 is false, Statement-2 is
true

{4)  Statement=1 is lrue, Slalement-2 is
true; Statement-2 is a correct
explanation for Statement-1

D b
Statement-1 : ‘“\ .
1 |'r ! 17 3 .
The point | 4’ 9 ] on the parabola y==x~
is closest to the line y=x+1. . -

LA !
Statement-2 : N

The tangent at \ ir % | to the parabola

yl =1 is parallel to the line y=x+1.

(1) Statement-1 is true, Statement-2 is
true; Statemsnt=2 is not a correct
explanation for Statement-1

(2} Statement-1 is true, Statement-2 is
false

(3) Statement-1 is false, Statement-2 is
true

(4) Statement-1 is true, Stalement-2 is

true; Statement-2 is a correct
explanation for Statement-1

T b, ¢ 21 UH At Arras Hed § e
T Bl<3c T

Ol f (x)=2"+bx*+cx+d, xR,
THIA-1: f TH 1 -1 Fe F)
WeRA-2 ¢ [ U R 9 gd: BRHT el # )

(1) YHY-1 989 &, YHyT-2 uen 2

YRHA-2, WEMA-1 T EE S T8

4]

(2) TEYE-1T §, weA-2 frem #
(3) w1 faen ¥, w2 uel ¥

(4) UFHR-1 WA &, THAA-2 T ¢
W2, U1 A W I

TeheAa-1 ¢

wEAT y=x W fd fag [%a %J T
y=x+17% (Fzaq T

ThRIA-2 ;

e e g 0 5 | o
Yl y=x+1% T E

(1) TFYF-1 79 &, UHYI-2 HA €,

TEIA-2, WEUE-1 T TE W 7a
=Y
el

(2) WFYA-1 TA &, TRE-2 fiem T

(3) TEeA-1 Ao w2 T

(4) YETHE-1 UF ¥, YRYA-2 WA T,
WEHE-2, WehRUA-1 ) TR S ¥

SPACE FOR ROUGH WORK / T& %14 & 10 =g




¥ -..II‘ .I :
y i [ 5 B
: . ; |
- J:&'sr'nrr_. e rsl . 1‘5;'11:, Ner<l
6. I fla)=1 A . 6. AR fu)= X
|0, r=0 i, x=0
then ['(x)=0, for: W F (=0%;
(1}  exactly two values of a (1) x7 2% 21 9T o fam
(2)  mno value of x (2)  x % fedt oft o & et o
(3)  infinitely many values of 2 (3) x % aFTa W fem
(4)  exactly one value of x (4)  x % dt% uw W fg
7, Let f(x)=[1-x7), veR, where || is the | 7.  HF f(x)=]1-x%], xeR, ST& [-] Frawm ol
greatest inleger funclion, Then ¢ e F T
(1) f is increasing ) f T T
(2} =015 the pomt of maxima of f (2) x=0, f = arférRay f"if't‘j_ (point of
maxima) ¥
(3) fis coniinuous at x=10 (3) fox=0MTWE
‘ ' (4) [ is decreasing (4) f BEEF
|
[ i 2 = 2 2 ¥ !
: | /L"' i the foci of the ellipse i:—.---'-f—.,—l and | 8. 7fg Frefgw :i—ﬁi-y,l -1 it srfamaes
fal 3 4=
[ b _1'3 t.r2 1 x* 1;2 ] _— ' .
lhe hyperbola —:—=— coincide, = == — ] AT (faci) G € T
. 144 81 25 144 81 25
then b? equals - o ) b2 T
(1) 5 O A S (1) 5 .
(2) 7 “ 2 7 TAq
(3)-9 (3) 9
| 0 \ oy 4 o R
' (4) 1 I \ (4) 1 = N
' ' 2 e
0 1f .i=1."'—_1, then 8. T =179 ‘ .
i ; 127 / i34 127 — 124
1 .43 f 3 )
| g L2 1T sl 1B ] oS . +3 —1+z'l‘~-“rl?5-
[ 27 2 g =5 W TR
i_ is equal to b o % A \ 4 :
' . ! G449 .
(1) i3 : (1) i3 F}r
' - 5 !
| ) i3 S 2 i3 ==
| () 1—i4f3 _ 3y T=id3 '
(1) 1+i43 =T (4) 1+i3
| SPACE FOR ROUGH WORK / T% %14 % fei 5°Te .
[ 3 l_p‘l !
~

3 ". L)




10.

1%

13.

The guadratic equation whose roots are

£ and E

@
amd b*=5b-3, is : 3
(1) 3?-19x+3=0 5
(2) 3:2+19x—3=0 > _a = °
(3) Ba?+19x43=0 - A%
(4) 3x?-19x-3=0

a#b#0, where a2=3a—3

A group of 2n students consisting of 1 boys
and 1 girls, are lo be arranged in a row
such thal the adjacent members are of
opposite sex. The number of waysin which

this can be done is ¢

1y 2 ¢l
(2} (nly? _
(3) 2(n)* &4
(4) n!

The degree of the differential equation
which has a sclution 3;?=~1a (x+a"),
where a is an arbitvary constant, is :

{1) 2

o | g ':51_"
@) 3 T
@) 4 ) Ae
o o
VA

[ the point of intersection of the lines
2px+3gy+7r=0 and px—2qy—2r=0 lies
strictly in the fourth quadrant and is
equidistant from the two axes, then 3

(1) Sp+dg=0 2 o

(2) 4p—bhg=0

(3) dp+59=0

{4) oSp—dg=10

10.

11.

12.

13

d

a#£b20 ¥, ol a?=5a—3 T8 bl=5b—3
&

(1) 3x7=19x+3=0

(2)  3x2419r—3=0

(3) 3xt+19x+3=0

(4) 3x*=19x-3=0

20 BT U e, Frei g ek ofit g el
&, @l sk il § g wep st wen & fe
frareart wra fadi fém & 2 T w5

(1) 2{nh
(2) (n!y?
(3) 2 (N2
(4 !

I HAFA WHEF fHHE g
yY=4a (x+ad), W& a UF = HW E,
%1 91 (degrec) ¥ :

1y 2
2 3
(3) 4
4 1

Ifg TEaA] 2ox+3qytr=0 3l
px—2qy—2r=0 T Wir=e 93 Tea: =94
=i o e ¥ AR 2 el | e gl w
%, a9

(1) 5Sp+4g=0

(2) 4p—5hg=10

(3) 4p+5q=0

(4) Sp-dg=0

SPACT FOR ROUGH WORK / T% &4 & fam 77




14.

Three dice, red, blue and green in colour,
are rolled together. Let B be the event that
the sum of the numbers shown up is 7.
Let A be the event that the red die
shows 1. Then the conditional probability
of event A given B, P (A |B), 1s:

=
1 3 : J
1 =
@ -
.
1
@ . p
[ L lf"I E‘:.'f:'“
""fr H";Ir ;
1 \ I.J r i
4 5 ) W7 ¢
f‘._\..‘ ._,.
p
2.1;+] x=1 _ w %
t dx equals -
10 _
(1} 1 S B C
Aln 2 In5 -
Ll -
_ W <G
(2) iii _T;”' 24
] 2 - A
e
2{x+1} x .
@ “mTrmte

1 = 2 =
4 27 ¥ = g7 ¥
}} Sln2 Ins

14.

) (4)

B
= 9 e i e, e ol s g e
e e W B O S R = g
F1AEH 7 B A B2 G e I
\femne=m A 31 TR 92 B % feu S |/
A A FI AW i, P (A B), #

2
m 3
1
i, rd
(2) 5
§ 1
G) 7 1 p,
-
1 e €
3 LY
fj.‘
a4l _ex—] e
J‘* P dx = %
3; ¥+1 2 ci=1
1 —1 == +C
() 5in2 Ins
2(x+1) =z
(2) s —27+C
F":.EI+1_}.+_'-F__+C

B Serts

1, 2

——1 +C
5n2 nh

SPACE FOR ROUGH WORK / 7% &1 & femg =7e
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17,

<" The hwan ami the median of 100

observations have been computﬂl to belé 601

and 70, respectively. lLater, it was
discovered that three obscrvations which
have been recorded as 18, 28 and 98 are
actually 80, 26 and 38, respectively. If the
mean and median are recalculated with

actual abservations, then :

(1)  median will change but mean will
-4
not change
{2) , neither mean nor median will
change
(3)  both mean and median will change
_A4)  mean will change bul |:wdmn will

rot L]mngc

Let Q be the set of all rational numbers
and R be the relation defined as

R={(x¥):1+ xy>0,x yeQ)

Then relation R is -

(1) symmetric and transitive
(2) reflexive and transitive
(3) an equivalence relation
(4) reflexive and symmelric

8

16.

17.

100 T =5 e ST M, e a0 it
700 AFTFRTAT [ o) AR H 4w v wen B
a1 Tagw T 18, 28 o 08 75 Fer T o
araa T FHY: 80, 26 3 38 §1 a9z we
I e w1 P At A o
wftwer feram s

(1) feERn Sgedl ey e ame
(2) A "o sl T d il sEed
(3) e & mitsrEs 96 aeet

(4) IV RS W] TR el Aeeit

AR Q Tl 9 dens = we § sl
TR :

R={{vy):1+xy>0,xyeQ)

ﬁ?ﬁ"‘ﬂﬁlﬁ%l 9 Y R

(1) ==ffa 3% g
(2) I S e
(3) T geEm-EE ¥

(4) g @i gnm

SPACE FOR ROUGH WORK /7% #l % ferr =g
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19.

20

Sets A, B, (, f‘h..-"LH, _f-‘k_"ﬁ_{: BAC and
ABAC have 35, 40, 45, 13, 12, 14 and
5 elements, respectively. An clement is
selected atrandom from thesef AV B C .
The probability that the selected element
belongs to enly set A is :

(1) 5

(2) %-2

G |
W

¥ ¥ — i
If a,b and ¢ are three unit vectors
ra
- =

y P =+ »
salislying 24 x[ axh ]+ ¢ =0, then the

acute angle belween a and b is :

: b3 N

“J 5 oy { :

= O .

@ 7 .
1 ' L 3

@ 3 i ¥

(4) ; LA XVt

Consider a triangle ABC with vertices at
0, -3), (~243, 3) and (243, 3),
respectively. The incenlre of the triangle
with vertices al Lhe midpoints of the sides
of triangle ABC is :

(1) (0 0)

2 (@ 1)

@ (-3 -43)
4 (V3 V3)

9

18,

19,

20,

B
TH=El A, B, C AnB, AnC, BAC
T AnBAC H WA 35,40, 45, 13, 12,
143 55379 €1 9959 AUBUC U s
TETE AgieE €9 " g W ¥ g9 g
AT F FHaer HY=E A T A T 9l
B

M
@ =
6 =
W =

afe a, b 3 ¢ A9 00 e Hiw E S
E?x[?xﬁ] Fe=0 I HqE w E T

e

a 4 Eiﬁ?ﬁﬂmﬂiﬂﬁﬂﬁr ) :

M = L ':
E ’

@ 5 |

® 3 : iy {y,%)

w T (%

T T ABC % Wi faeg wmmn (0, -3),
(-243,3) ¥ (243, 3) &1 =0 fn,
e ¥ Tearg Brgst ABC =1 ypomsii % weg
ﬁﬁ%,aﬂdﬁﬁﬁ%

(1) (© 0

@ © 1

3) (=43, —3)
@ (3, V3)

SPACE FOR ROUGH WORK /7% &4 o feu =g
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23.

10

1|

Let (<, Br_:z. If cos(a+Pl=— and

L

sin { ot —I31=%, then the value of tan 2o
15:
19 .
B T oy g
56 .
@ = _
33 s 1
ED i ! :'.l { | |'l
(3) -;E- £ -_|I '.‘v:' [ - F
] { ( . Lh L
25 7 T I |':L
(4) ‘E : J e sl

The stalement ~(pag)vq :

(1) 1sa tautology

(2) isequivalentto (paq)v~q
(3) is equivalentto (pvq)

(4) is a contradiction

If

gM=agta, (1+3)+a; (1+2)7+.4
a, (1+x)"

=by+by (1—x)+b, (1—32+..+
b, (1-x)%,

then for =101, {azy, bsy) equals:

(1)

(10, Wicy)

(2 (LD!{_-_;_{’ " _Imcm}
(3) { . 1m{-:50 i) 1 C‘JI}
(4) {mlcm i Tmcwj

; 4
21. W 0<a, Bg%,'ﬂ'ﬁmﬁiuﬂi}:ﬁ 3

22,

23

5
Sm{ﬂ'-'m_l—j, 4 tan 2 W ARG ¢

VETE ~(pagivy :

(1) W PrERE @

(2) (paqiv~qFTAE
3 (pva) FIARL
(4) T HFE

afe

a, (1+x)"

=by+by (1-x)+by (1=2P+.. 4+
b (1=x)",

4 =101 % o (A5 1150}31'{'@‘{"%‘ -
(1)

10 101¢
(= Gy M Cap)

(2) {'I {1 C-'}{] ) J.U'f.{tsﬂ:]
{3} |: A CE»CI o 1M CED}
(4) (mlc.ﬁﬂ : IU[CBUJ

SPACE FOR ROUGH WORK /7% &4 & fom =rme
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24,

25.

26,

A particle is comstrained to move along the
curve i = 1.."' x , starting at the origin at ime
t=0 The point on the curve where the

abscissa and the ordinale are changing at
the same rate is :

o (2 %1
@ (b5
o (4 ;1
M) 1)

The sinm of the numbers between 200 and

400 that are divisible by 7 is : gz
(1) 8729 - =

) 7511 14

(3) 6328 = at :

(4) 5712 L—=

—r .A M A 5 Fo L —%
f b=i—-j4+3k, c=j1+2kand a isa

unit vector, then the maximum value of

the scalar triple product, L B C"J 157

(1 30 ot
@) I - 2
() V26

E
Fa
Y
R

11
24,

25,

26.

B -
HH =0 W A g AJ s 59 B U
FUTE y=+/v T FA H A ¥ TH 7w

=% farg w18 = ofv Ffe o = @ wRafi
EECEAECE S

o (3 %)

] |
(2) (H’ m]
o (3 4]
4) (1, 1)

200 T 400 F = § 7 ] s e w0
AMTES B

(1) 8729
(2) 7511
(3) 6328
(4) 3712

—+ N A Aoy A M =i
e b=i—j+3k, c=j+2kqW a TF
ifew wfgw g, @@ «fzy faw poeea,

[;‘5*?]

T SHFAE T &

(1) /30
@ 29
(3) /26
(4) eo

SPACE FOR ROUGH WORK / T% &4 o forg =
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27

28,

/1‘5( The domain ﬂi the function N ¥ 7

30.

J,LST'

12
The mid-point of the chord intercepted by
the circle x*+y” =16 on the line through
the points (1, —=2) and (0, 1 1) is:

I 1y %\
™ =7 "z) \{
Iz 3 -
) (3 -3
5 (-1 -\1
S S
o (-2 D\
W ("3 1]
The area of the region described by the set
{(x, y) : I?fullfﬁ Ix|)ise
(1y 2 ] (i '
| 6~

l L1
2y 1z e

3 Lot b
g 1 2y
L q § "
(4) 22 ' N 7

2} I

piley = S—F:Jr.: {x—3) s

(1) (=, 30) ,

(2) (=, 30)u(30, =) 55
{3, 30) (30, =) A ’

(4) (3. =)

Let {a, by ¢) (0, 0, 0). The pair of equations
which does not represent a slraight line
15 7

{1) ax+bytcz+d -0, aztb'ytez+d=0 (b=h)
{2)  ar<by+cz+d-0, ax+by+ez+d=0 (c# )
{%} avthy+er+d=0, ax+by+eed’=0 (d+d)
(4) axibytez+d=0, a'x+by+cz+d=0 (a=a)

27

29,

30,

el (1, -2) w0, - 1) 3 S
AT 1%+ y? =16 W AT T Sl
fag &

_ {1 1

o (-2 -3
1 3
@ (3 -3
! 1

® | -7 _4J

A { (v ) ¢ 2% =y < |x|] BRI
WE A

L1
(1 27
_ 1
(2) 1'3-
|
(3) 3
? 5
(4) 2 e
Ao 1
e f () g W Y
(1) (=, 30)
(2) 30) (30, <)
(3) (3, 30).(30, =)
4) (3, =)
Hi FF (a, b, O #(0, 0, 0y, Tl ot
T w EE g R | SR

=
ok
(1) ax byter+d=0, ax+b'y+cz+d=0 (b

(2)  axibyteztd=0, ax+bhy+czl=0 o
(3)  axtbytczid=l, av+by+rez—d=0 {d:
(4)  ax+by=cz+d=0, a'v byt z-+d=0 (o

SPACE FOR ROUGH WORK / T% &1 o o wmg
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1 Part 11 / 417 11
Aptitude Test / @ifirsfa uiteror

Directios : (For Q. 31 to 35). Find oul the total number of surfuces of the object given below in the
| problem figure,
. fdvr : (T 318 35% feau) | Y99 SFT T FaET a5g § w08l &1 el G 999 B f

Problent Figure | TF Sihit

.F'?.--’T-T“-:_-'i"'l'."_
' FE e
T g JT (1) / (2) 18 (3) 19 (4) 16
!.!.l'.l‘_r. i '__
1 e A
o
G
~
E‘S\:t
ATBY .
3. & OA] (1) 2 (2) 13 3) 14 () 11
e
L“"J“:- ; | _,ffl
‘..r.lﬁ,f
| S
}11” 14 (2) 15 (3) 16 4 13

{,@ 10 __{zj/ 11 3) 12 @) 9

1) 14 2) 15 3) 16 13
(1) (2) (3) fﬁ}

SPACE FOR ROUGH WORK /7% =14 o {1 =718
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Directions : (For Q. 36 lo 38). Which one of the answer Sigures, shows the correct viem of the 3-L
problem figure, after it is opened up ? -
fador (368 38Ff79) 1 3D 797 305 %) @ w0 I SEhE 3 @ wE gv e
F7
Problom Figure | ¥99 Sl Answer Figures | S AiFfal
& i

P
=
L
Y
Eall
[
]
'—L_r_l_“
[ ]

e K:L

— = = -*"“
(1) (2) /LBv)/ (4)
- = = =
AL T E F
JEL N I ) :

‘; B ¥ | ?ﬂ

(1) (2) P (4)

SPACE FOR ROUGH WORK /7% %1 3 ferT g
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[vrections

g :

15 B

(For Q. 39 to 40). One of the following answer figures is hidden in the problem figure,
in the same size and divection.  Sclect Hiat one as the correct unswer,

(W 303 40%F femm) 1 A9 & 0F I Al § § O sl W S o # we
w7 # 7T arEie § fodi & 1 39 "o 39 F ©F 7 A7

Problem Fi'g!!?'é" f T 3‘?7??_1%- Anstoer rfglﬂ't':i f 3T W?;ﬁ??}f

39.

J < B 4

Drections :

Frrfer

(1) (2) (3) /{»

DAV v S N

AN (2) ) (4)

f

(For Q. 41 to 46). 3-D problem figure shows the view of an object. Identify e correct
tep view, from amongst, the answer figures,

(. 41® 46 % [770) | 3-DF97 IFla 1 U 9% 71 fo@ray 7747 81 35991 #al 390 %4
T STFEfA o & TEanag

Problem Figure | Y%7 &igia Answer Figures | 3 SUFGH

/,4*;1.

j | | |
(1) @ (3) ,}46/

|

SPACE FOR ROUGH WORK / T % & fou wmg

|
|I
|
|



43.

{45.

N

B

16

Answer Figures / I sglaar

0

(1) P
L—l
‘\\_— g
. @)

T[__T

=

]

AT

o B0 O

(3)
o

A

(3)

=

(3)

}mﬁ H_/][uf-
2) @ (4 >
7

(4)

4)

-

(4)

SPACE FOR ROUGH WORK / 70 %4 % femr sz
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Divections : (For (. 47). Problem figure shoies top view of an object. Identify the correct elevation,
fromr amongst the ausier fivmres,
Frdor (% 4?$ﬁv};mw§hnwa@wm§wfé@mwﬁrmw##
SHH HE HAE 5T VBT
Problems Figure | T¥T 3TFHA Answer Figures | I 0FaA

L T | []

.
[-]].. (2) y (4) ’“‘/ﬂl

Directions : (For (2. 48 and 49). ldentify the correct 3-D fiqure, from amomgst the answer fivures, ‘
which has the eleoation, as groen in the problem figure on the left, !
, - By S = |
Fgor (W 48 3N 49 % forg) | 37 gt & § 57 g&l 3-D gty 7 ohen famw gogpm

Tv9 Al SR 2] T vd sty Sa g

Problem Tigure / W94 SAisia Answer Figures | 307 nFhaar

-8 e
p o o @
. (é]): %@ % g} ‘l i

(4)

SPACE FOR ROUGH WORK / 7% =14 & fer =g

B
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Directions : (For Q. 50 to 55). 3-D problem figure shows the view of an object. Identifiy the correct
front view, from amongst the answer figures, looking in the direction of arrow.

fror : (7. 50F 55% fomw) 1 3-D 997 3iFfd § U % &1 fearn 7 &1 @ 7 fowr o dwd
T s ) g gen ) T T

Problem Figure [/ 5% 315 Answer Figures / 300 # i‘?mf
;

@ 24 £ P pg

!

(2) 3 /M/

@ @
* s

)

S ? BN AR
i ) @) @) /(41/

SPACE FOR ROUGH WORK / T% %14 & fer =g
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Problews Tiyure | F99 Sl Answer Figures / 3t Sgfral
o [ e o o Ve
=1 ] ] L] [ I

(1) (2) /43) (1)

/ﬁf’ FQ EQ @ @ | oty

diuss
A
(1) 2 ~ (3) A

SPACE FOR ROUGH WORK /7% %14 % femr =rme
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Directions : (For Q. 56). How many total number of reclangles ave there in the problem figure
below ?

Frdfor : (7 56%F gy T F wF wer gl § o 1 g qen et 32

Problem Figure [ F579 3FT

PSRN

/5ﬁ, ; ‘ 9/'13 (2) 15 (3 14 (4) 12

e T——
SRR B
Divections ; (For Q. 57 and 58). How many total mumber of right m;lg-feif triangles are there in the

problem figure given below 7
Fdr (Y. 5737 58 % ferm) 1 A9 3 E WA FTT F qHEI Fyl 1 el e ) w7

Problem Figure | ¥¥ ST@id

57) ' i (1) 15 @) 18 (3) 19 w14

v
i
i
L]

1 16 (2) 18 ?/ 12 @) 15

SPACE FOR ROUGH WORK / T &7 % oo sme
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Directions : (For (3. 5% and 60)). Find the odd figure out.
For : (% 59N 60% ferq) 1 Fam smgfe 774 |
Y - Y T
59. - > <
4 A A 'S A
(4)

e = ,.fr
F) e Ry
(1) @)

Directions : (For Q. 61 and 62). Which one of the answer figures will complete the sequence of the
problem fioures 7

(N 61 #0762 % fe70)  FA7 Slad & @ S SHd i T97 HaF 1 T |

Frctor :
IFHT (sequence) T0 ET T

Answer Figures [ I% &ﬂ?fﬁlf

Problein Figure | F97 &ehld

/ﬁf-’"@%@%‘

Problem Figure [ 9¥9 STFiT Answer Figures [ 07 Sgal
A / v
_CF D| rTD | ]c CF- -‘f
2. @ [ — o
A A B
(1) @ @) /w

SPACKH FOR ROUGH WORK /T %4 % fom =g

$is
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Directions ; (For (. 63 to 65). Which one of the answer figures is the correct mirror iiage of the

problem figure with respect fo xx.

et : (T 638 65%F few) | T ST 4 8 iG] SFEf & T 7T oNF # a-x T HE
i wldfes &7
Problem Figure [/ ¥¥7 T Answer Figures [ 307 ﬂw

(1) (2) (5)
°

(1)

SPACE FOR ROUGH WORK / T% T4 # feTl 51T
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6.

"

A

/6'?.

68,

hY.

Cement is used for its property 1o -

(1)  Reduce the quanlily of steel used in
reinforced cemenl concrete

(2) Obtain greater tensile strength in
concrete

(3) To reduce quanlily of water in
concrete

{41 Bind particles of sand and apgregate

-

n cement concrele

In which Indian slale, is the sun temple of
[onark located ?

(1)
(2)  Wesl Bengal

/Q’]' Orrisa

(4) Tamilnadu

Assam

Cooling effect in hot climates can be

achieved by -

(1) Stone cladding
(2)  Dark coloured walls
(3)  Metal sheet roofing

(4 Installing fountains

Satish Gujral is :

(1)  an actor

{7} a cricketer

(3] a musician

(4)  a well known painter
Whal is Jantar Mantar ?
(1) A museum

{2) A fort

(3}  Mughal Garden

(4}~ An astronomical Laboratory

23

66,

67.

68,

69.

70.

B

w5z F) fore fordraar & fom 38wl o @
AR ?
(1) wafem 9= e § e %) o @

9 F1 F fom
(2) iz ® ATy aE-HEe] qm e

% fom
(3) bl T OTET B U W HH T F

fem
(4) Foud o 7 Tiie St 4 Ty of awd

1 R = 3
T A EE I 159w g e
(sun temple) fopg ¥ 7
(1) smm
(2) T 5 1
(3) = R
(4) afterTy

T HrEs H viider TeE T S W

(1) et &1 ®efeT (Cladding) d

(2) LI En

(3) g =Y = B Y

(4) TFEET] F1 T A

(1) & A

(2) Tz G T

(3) TF Thmw

4y TF guiEs TEE

TR WA R 7 L by
(1) T e hao
(2) UF e

(3) T WME

(4) U FE SEETIe

SPACE FOR ROUGH WORK /7% &4 3 fau =g
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/,7'1. A white coloured interior looks larger, | 71.
because :
AT} it reflects more light
(2) itis a cool colour
(3) itisa hot colour.
(4) it absorbs more light
/‘72 Fatehpur Sikri is built with . 72.
~(1) Red Sandslone
(2}  Granite
(3) PBricks
(4) Concrete
73 The Eillel Tower in Paris is made of 73
(1)  Bricks
(2) R.C.C
A3y Steel
(4) Concrele

74] Who amongst the following, is not an | 74.
architect ?

(1) Lauri Baker
(2) AP Kanvinde
(3) Joseph Allen Stein
(4" Raghu Rai
75. Birju Maharaj is a well known : 75.
(1) Vocalist
(2) Painter
(3) Kathak Dancer
{4) Bharat Natvam Dancer

(1) Lucknow
(2) Jaipur
(3) Thiruvanthapuram

planned city in a grid pattern ?

Which, amongst the following was a | 76.

l.udhiana

T THRE 9 A i e (S we e
& i

(1) & =T N9 e e E )

(2) TEBETE

(3) FETEMITE)

(4)  TE T I T e

AR HT] A Y

(1) ETTeT el e H |
(2) TR W

(3) g

(4) G

e w1 s 2few = E

(1) Z&H#

(2) e ||

(3) &9

(4) WFwEH

AT § I AT T E 2
(1) & ==y

(2) o FEMED

(3) IEF TEH =

(4) W

e TR €, U Hai
(1)

@ "=

(3)  FF T

(4) v S

=78 F e vz, firg H2 w il ar?
(1) wET%

(2) H

(3) TaseraH

(4) T

@

SPACE FOR ROUGH WORK /7% &4 o feTl 57718
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77.

Amrita Shergil was known for her

contribations in the (ield of
{1y Dance

{2)  Fashion Design

(%) MNusic

{4) Painting

7{ Which of the following 1s used as heat

79.

80.

-

insulating material ?

(1) T.V.C Sheet
427 Glass Wool

(3)  Reflective Glass

(4)  CGround Glass

Which amongst the following is most
prone to damage in an earthquake ?

(1) Steel structure

(2)  PBrick masonry in mud mortar

(3} RCC Walls and R C C roof.

{4} R C C framed structure

Trees should be planted in which direction
to reduce maximum heat radiation
around a building ?

(1)  South
(2)  West
{3) East
(4} North

—oda:-

25

il

78.

79.

a0,

B
T ot 2

(1) Ja4

(2) Ty feemfin g
(3) HiEH

(4) HfEn

oy 3 B SrE SR el 22

(1) . &L El 9 (V.0 Sheel)
(2) @ w

(3) TOEdE Hig

(4) fomwta

T % TR e e | sl e
T ?

(1) =& T &=

(2) WAL

(3) =R 4 Hl = e e 2|

(4) L H = w0 g B

TS F, T A & 7w, e fw # wmen
=ifzn, faed sfuwan To fafsom %t #
IEziksi ke

(1) <o =i AR

(2) ufE=m =T @R

(3) TE = &R

(4) S W HE

-0QDo-

SPACE FOR ROUGH WORK /7% %14 o Te10 STTT%

|
M.‘f
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Ltead the follotwing instructions carefully :

Freferfam e T 9 g -

1.

.

0.

11

PartT hus 30 objective type questions of Mathematics,
Question MNo. 1 to 2 and 2 1o 30 carsist FOUR (4)
marks each and Cestion No. 340 8 consist EIGHT (8)
marks each for cach correct response. Part 11 (Aptitude
Test) has 50 objective type questions consisting of
FOUR {4) marks for each correct response. Part 111
comsists of 2 questons carrying 70 marks which are to
b attempled on a separate Drawing Sheet which s
also placed inside this Test Boaklel Marks allotted to
cach question are written against each question. For
cach frcorrect response in Part | and Part 11,
onte=forerth ) of Hae total marks allobed to the question
wonld be deducted from e wtul score. No deduction
from the total score, however, will be made if mo response
s ndicated for an {tem in the Answer Sheet.

Handlis the Test Booklet, Answer Sheet and Drswing
Shieet with care, as under no circumstonces (exvept for
discrepunicy in Test Booklet Cade and Answer Sheet
Code), anuther set will be provided

The candidates are not allowed to do any rough work
or writing worl on the Avswier Sheet, All caleulations/
writing, work are 1o be done on the space provided for
this purpose in the Test Booklet itsell, marked ‘Space
for Rough Work'. This space Is given at the bottom of
eich page and in 2 pages (pages 26 - 27t the eind of the
l:uu]r.fiui.

Each candidate must show on demand bis/her Adimiy
Card o the Invigilator,

Nao candidate, without special permission of the
Superintendent or Invigilator, should leave his/ her
seakl

{n completion of the west, the candidates should not
leave the examination hall without handimg over their
Answershestof Mathematics and Aptitude Test-Fart |
& I and Drawing Sheet of Aptitude Test-Part 1] to the
Inwigilator on duty and sim the Alendance Sheet at
the lime of handing over the same. Cases where a
candidale has not signed the Attendance Sheet the
second Hme will be deemed not have handed over
these documents and deall with as an unfair means
case. The candidates are also required to puttheir left
hand THUME impression in the space provided in the
Attendance Sheet. [ldwever, the condidates are
allowed to take away with them the Test Booklet of
dMathemalics and Aptitude Test - Part | & 11,

Lse of Electronic/ Manual Calculator or drawing
instruments {suchas stale, compass ete.) is notallowed.
The candidates are governed by all Rules and
Regulations of the Board with regard to their conduct
in the Examination Tlall. All cases of unfair means
will be dealt with as per Rules and Regulations of the
Buard.

No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached /tolded or defaced wnder any
circumstances.

The candidates will write thie Test Booldel Nwmber a=
given in the Test Booklet, Answer Shest and Drawing
Sheet in the Attendance Sheet alsn

Candidates are not allowed to carry any lextual
material, printed or written, bits of papers, pager,
mubile phone, electronic device ur any other material
excepl the Admil Card inside the examinatinn
hall/ room.
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Tl

T W o 3 30 e T R @ e
HE 1 B 2 A% 9 F 30 TF F WSS ww a0 e
| (4) 2FF i fed M am wm HEm A R T
Tl T S T A (8) W P Rl i ¥ ogm
11 ( it e 7 so @i e § fod vt ae
T F T A (4) # F | i o 2 v
Toer: ferm 70 o Fraifta & 1 o wver gt tten it &
T T BT vite 9T A § | e W i Meffr ofw
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F7 T fer mn g 3 fem fifin e o 1 0 ge
wtemd (Vs) = T A A w5 fen o wfeT
RERAEUREE a1 c Lt A e R
it WIS 3 T @ wmin )

it i, 3w ud g o e wEm
w1, il faedt ot witfenf o (e wdtan ofersr o
T T B T o e ) feaf w0 e e e
i et T FArf A )

ittt 1 e o v R o v e an fermrd
ST A A i o o fered ), it
e # fuifen =ome S % T w0 & fem we g
T &, T (R S S w6
i iR HE H 20 W (T8 26 - 27) # v )
T W W T el Bl W e wi wr
Et

st Frier w1 fardi arqnla o e g dtemedt
3T T4 q BrE

wiiEn 7AW B o7, miendl Aiwst w51 o
TR ~ S | U sfvsl e — ue 1 S O
i Tirem- T (1 1 2 9 €9 el uiefy o
T AT S SE HT % TR W e w2
H F H 9T A g e I 0 uE g vtz AE
e T € T e Wy =t At S T e
itere] o A w3 = e suftefr aa
fo o =i o wEvy wwd L wenfa, T s
IR TE AT Ter - 4 LT 1w g
T HFA 2

Yo el S A SR TR (36 R
T, HYE FENZ) T A e E

- TIETEE S AT I e el =S 5 i v ffard

g1 At 57 sran e w2 ol aeEt w5
e s & el T fafest SR A
T ol Peafs = e oftme, o o g v =
W T 9T A A1 e e s Si T e Em
avegan ey = |

T Y, T E 0 35T vie § 9 T wien g
HeEm F wiandl 9et wits B et e o e
T BT T 7/ AT uHy &S 3 faarg
fereit weprn il wreg wndt, wfie A wwafafen, How
1 afsfat, T, HrEneet Wi, e i sy ar
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